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Answer the following

questions by selecting the correct option.
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An object of mass 2 kg is sliding
with constant velocity of 4 m/s on a
frictionless horizontal table. The
force required to keep the object
moving with the same velocity is

(A) 32N
(B) ON
(C) 2N

(D) None of the above

Which of the following statements is
not correct for an object moving
along a straight line in an
accelerated motion?

(A) Its speed keeps changing

(B) Its velocity always changes

(C) It always goes away from the
earth

(D) A force is always acting on it

The physical quantity which makes
it easier to accelerate a small car
than a large car is measured in the
unit of

(A) m/s
(B) kg
(C) kg-m/s

(D) None of the above
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. Which is not a physical quantity?

(A) Length

(B) Mass
(C) Acid

(D) Time

. Which one is a vector quantity?

(A) Temperature
(B) Density
(C) Area

(D) Velocity

. A rocket works on the principle of

conservation of
(A) mass

(B) energy

(C) velocity

(D) None of the above

. The inertia of a moving object

depends on

(A) momentum of the object
(B) speed of the object

(C) mass of the object

(D) None of the above
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8. The momentum of a car of mass
1000 kg moving with a velocity of
72 km/h is

(A) 20000 kg-m/s
(B) 30000 kg-m/s
(C) 72000 kg-m/s

(D) 100000 kg-m/s

9. A body is thrown vertically upward
with velocity u. The greatest height
to which it will rise is

A) u/g
(B) u?/2g

(C) u/2g
(D) None of the above

10. A boy starts from his home and
travels 8 km towards east. He then
takes turn towards left and
travels 6 km. The distance travelled
by the boy and the displacement will
be

(A) 14 km, 10 km
(B) 10 km, 14 km
(C) 14 km, 14 km

(D) 14 km, 12 km

11. The physical quantity that denoted
by the area wunder velocity-time
graph is

(A) speed
(B) displacement
(C) acceleration

(D) momentum

10.

11.
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(A) 20000 kg-m/s
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12.

13.

14,

A car is accelerated on a levelled
road and attains a speed 4 times its
initial speed. In this process, the KE
of the car

(A) becomes 4 times that of initial
KE

(B) becomes 8 times that of initial
" KE

(C) becomes 16 times that of initial
KE

(D) becomes 64 times that of initial
KE

The momentum of a bullet of mass
20 g fired from a gun is 10 kg-m/s.
The KE of this bullet in kJ will be
(A) S

(B) 15

(C) 25

(D) None of the above

A stone is thrown upwards as shown
in the following diagram :

When it reaches P, which of the
following has the greatest value for
the stone?

(A) KE

(B) PE

(C) Weight

(D) Mass
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15. Work done by a force will be

16.

17.

maximum

(A) when the angle between the
direction of force and djrcc_:tion
of motion is 0°

(B) when the angle between the
direction of force and direction
of motion is 90°

(C) when the angle between ‘the
direction of force and direction
of motion is 45°

(D) when the angle between the
direction of force and direction
of motion is 60°

Which one of the following is not the
unit of energy?

(A) joule

(B) kilowatt-hour

(C) kilowatt

(D) calorie

An electric bulb consumes 7-2 kJ of

electrical energy in 2 minutes. What
is the power of the electric bulb?

(A) 36 watt

(B) 36 watt

(C) 144 watt

(D) None of the above

18. The dimension formula for power is
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(A) mr3r3
(B) mrL™273
(C) MLT?

(D) MLT2
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15.

16.

17.

Work done by a force will be
maximum

(A) when the angle between the
direction of force and direction
of motion is 0°

(B) when the angle between the
direction of force and direction
of motion is 90°

(C) when the angle between ‘the
direction of force and direction
of motion is 45°

(D) when the angle between the
direction of force and direction
of motion is 60°

Which one of the following is not the
unit of energy?

(A) joule

(B) kilowatt-hour

(C) kilowatt

(D) calorie

An electric bulb consumes 7:2 kJ of

electrical energy in 2 minutes. What
is the power of the electric bulb?

(A) 36 watt

(B) 36 watt

(C) 144 watt

(D) None of the above

18. The dimension formula for power is
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(A) mr2r-3
(B) ML 273
(©) MLT?

(D) MLT2
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19.

20.

21.

22.

Which one of the following does not
consist of transverse wave?

(A) Light emitted by CFL bulb
(B) TV signals from satellite
(C) Ripples on the surface of pond

(D) Musical notes of orchestra

‘SONAR’ is actually the short form of
(A) sound navigation and ranging

(B) sound organizer, navigation and
ranging

(C) sound organizer, navigation and
resonance

(D) None of the above
Echo is heard sooner on a
(A) hot day

(B) cold day

(C) windy day

(D) None of the above

In which temperature, Centigrade
and Fahrenheit scale reads the
same?

(A) -60°

(B) -55°

(C) —40°

(D) +40°
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23. If the speed of a wave is 340 m/s

24.

25.

26.
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and its frequency is 1700 Hz, then A
for this wave in ecm will be

(A) 2
(B) 02
(C) 20

(D) 200

Which of the following sound
frequencies can be heard by a
human ear? '

(A) 15 Hz
(B) 40000 Hz
(C) 10000 Hz

(D) 50000 Hz

At 20 °C, the minimum distance of
a person from a sound-reflecting
surface to hear an echo is

(A) 122 m
(B) 182 m
(C) 152 m

(D) None of the above

We can distinguish between the
musical sounds produced Dby
different singers on the basis of the
characteristic of sound, is called

(A) frequency
(B) timbre
(C) pitch

(D) None of the above
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27.

28.

29.

30.

The frequency of a source of sound
is 100 Hz. How many times does it
vibrate in 5 minutes?

(A) 30000
(B) 3000
(C) 500

(D) 5000

If a thunder is heard by a man 4 sec
after the lightning is seen, how far is
the lightning from the man? (Speed
of sound in air is 330 m/s)

() 1320 m
(B) 1230 m
(C) 132 m
(D) 3120 m

A body of weight 2 kg is suspended
as shown in the figure below :

30 T

The tension Tj in the horizontal string
in kg-wt is

(a) 2/43
(B) ¥3/2
(C) 23
(D) 3v2

Just after the start, the acceleration
of a scooter which acquires a
velocity of 36 km/h in 10 sec will be

(A) 1m/s?
(B) 36 m/s?
(C) 360 m/s?

(D) 36 m/s?

27.
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29.

30.
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31.

32.

33.

34.
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The slope of a distance-time graph |

indicates

(A) velocity

(B) speed

(C) displacement

(D) force

If the displacement of an object is
proportional to the square of time,
then the object is moving with

(A) uniform velocity
(B) uniform acceleration
(C) increasing acceleration

(D) decreasing acceleration

The angle between an incident ray
and the plane mirror is 30°. The
total angle between the incident ray
and the reflected ray will be

(A) 60°

(B) 120°

(C) 90°

(D) 150°

A ray of light strikes a plane mirror
PQ at an angle of incidence of 30°
and is reflected from the plane
mirror and then it strikes a second
plane mirror QR placed at right

angles to the first mirror. The angle
of reflection at the second mirror is

(A) 60°
(B) 30°
(C) 90°
(D) 15°
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35.

36.

37.

38.

The focal length of a spherical
mirror of radius of curvature 30 cm
is

(A) 60 cm
(B) 30 cm
(©) 15 cm
(D) 20 cm

The image formed by a concave
mirror is virtual, erect and

magnified. The position of the object
is ,

(A) between pole and focus
(B) at pole

(C) between focus and centre of
curvature

(D) None of the above

Whatever be the position of the
object, the image formed by a mirror
is virtual, erect and smaller than the
object. Then the mirror must be

(A) plane
(B) concave
(C) convex

(D) None of the above

Which one of the following
statements does not apply to a
concave mirror?

(A) Focal length is negative

(B) Image distance can be +ve
or -ve

(C) Image distance is always +ve

(D) None of the above
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@36 wFeE 7ol w@ v ofeRy wew,
SR @ {3t = | arwg I|ha SEE
T3

(A) (F ¢ (FRICH WY

(B) #TS

(C) (FITI S IFSLICHA T
(D) Toiza I W

37. W @A-FF SRYCGA G0 P, T

GR I TR Fued ofeRy e =)
qrRCE ool SR 23

(A) TeH
(B) =&
(C) TeA
(D) Torza @R T

38. A @FF ISIM SHSA AR A

2{CATST T 2
(A) PR Y STEE

(B) =feRm g IR A T =3
(C) afRg vag M e 23
(D) oA DR W




39.

41.

42.
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The refractive indices of three
substances P, Q, R are 1-50, 1:36
and 1-31 respectively. The speed of
light is the maximum in the
substance

(a) P
(B) @
(€) R
(D) None of the above

If a magnification -1 is to be
obtained by using a converging lens
of focal length 12 cm, then the
object must be placed

(A) at 24 cm distance
(B) within 12 ecm distance
(C) beyond 24 cm distance

(D) None of the above

One coulomb charge is equivalent to
the charge contained in which of the
following?

(A) 2:6x10'? electrons
(B) 6-2x10'? electrons
(C) 2:65x10'8 electrons

(D) None of the above

Keeping the potential difference
constant, the resistance of a circuit
is doubled. The current will become

(A) double
(B) half
(C) four times

(D) eight times

12
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43. The resistance between A and B in

45.

the circuit given below

10Q

20Q
Ae—/MWA

30Q 10Q

10Q 20Q

is

(A) 3875 Q

(B) 2875 Q

(C) 5025 Q

(D) 3075 Q

Energy transferred by a 5 A current

flowing through a resistor of 2 ohms
for 30 minutes is

(A) 0-025 kW-h

(B) 0-050 kW-h

(C) 25 kW-h

(D) 0020 kW-h

Which of the following

characteristics is not suitable for a
fuse wire?

(A) Thin and short
(B) Thick and short
(C) Low melting point
(D) None of the above

A soft iron bar is inserted inside
a current-carrying solenoid. The
magnetic field inside the solenoid

(A) will decrease
(B) will increase
(C) will become zero

(D) will remain same

13
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47.

48.

50.
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(D)

The force experienced by a current-
carrying conductor placed in a
magnetic field is the largest when
the angle between the conductor
and the magnetic field is

(A) 45°
(B) 90°
(C) 180°
(D) 30°
An MCB which cuts off the
electricity supply in case of short

circuiting or overloading works on
the

(A) chemical effect of current
(B) heating effect of current
(C) magnetic effect of current

(D) None of the above

. A diverging lens has a focal length of

0-10 m. The power of this lens will
be

(A) -1-0D
(B) -10:0D
(C) +10-0D

+1:0D

The lamps in a household circuit are

connected in parallel because in this
way

(A) they require less current

(B) if one lamp fails, the others
remain lit

(C) they require less power

(D) None of the above

47.
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51.

52.

Directions
questions by selecting the correct option.

53.

GROUP—B / ©I%—B

CHEMISTRY / wirH
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Answer the following

Which has the maximum number of
atom?

(A) 24 g of C (12)

(B) 56 g of Fe (56)

(C) 27 g of Al (13)

(D) 108 g of Ag (108)

5 moles of A reacts with 6 moles
of B according to the equation
2A+ 4B — 3C +4D. How many moles
of C is formed?

(A) 9 moles of C

(B) 11 moles of C

(C) 45 moles of C

(D) 6 moles of C

The  empirical formula and
molecular mass of a compound are
CH,0 and 180 g respectively. What
will be the molecular formula of the
compound?

(A) CgHgOg
(B) CH,0
(C) CeH1206

(D) CoH40,

51.

52.

53.

(FF CFE SROE @RI Y
TET 2

(A) 24 g C (12)-99 CFCq
(B) 56 g Fe (56)-9% C%¢a
(C) 27 g Al (13)-97 C¥¢q

(D) 108 g Ag (108)-97 CF¢a

2A+4B —»3C+4D W9 @l
5 mole A, 6 mole B-<3 2s RfEFam
SR A | OCF PO (N C R A ?
(A) 9 mole C e 33

(B) 11 mole C =7H 33

(C) 45 mole C Teom 3@

(D) 6 mole C =@ 33

@3 MR g TS ¢ ARE 39y
IYGFE CH,0 6 180 g. (qoifba weifie
e & 232

(A) CoHgOg

(B) CH0

(C) CeH1206

(D) CoH40,

e ————
e S R




54.

55.

57.

The volume occupied by 2:5 mole
O, at NTP will be

(A) 56L
(B) 56 L
(C) 0056 L

(D) 5627 L

The volume of CO, gas obtained
from 2 kg CaCO3 at NTP is

(A) 448 L CO,
(B) 448 L CO,
(C) 224 L CO,

(D) 448 L CO,

If a species has 16 protons,
18 electrons and 16 neutrons, then
the species and its charge will be

(A) s
(B) si~?
(€ p3

(D) s72

An a-particle is identical with
(A) proton
(B) neutron

(C) helium nucleus

(D) electron

54. NTP-(S 2:5 mole O,-9q IO (3

S6.

57.

(A) 56L
(B) 56 L
(C) 0-056 L

(D) 5627 L

NTP-(® 2 kg CaCOj (T F© S
CO, TP #{1&H] T ?

(A) 448 L CO,
(B) 448 L CO,
(C) 22:4 L CO,

(D) 448 L CO,

@ a3 I|e 160 cana, 180
ege 8 166 At 399w | b ¢ ©@
TR AR 23

(A) s~

(B) si2

(€ p3

(D) 872

G - @O AT P 2
(A) camBa

B) Mg

(©) R e

(D) =g




58. As we move away from nucleus, the

/6

59.

60.

61.

energy of the orbit

(A) gradually decreases
(B) gradually increases
(C) remains unchanged

(D) None of the above

The total number
associated with n =3 is

of orbitals

(A) 18
(B) 9
©) 7

(D) 14

The absolute value of the charge on
electron was determined by

(A) J. J. Thomson

(B) R. A. Millikan

(C) Rutherford

(D) Chadwick

Which of the following reactions led
to the discovery of neutrons?

(A) 6C'°+ 1p! = N'%+ gn!

(B) 4Bc9+ 2He4 — 6012"‘ onl

(©) 5B+ ;D% = ('l 4 gnt

(D) 4Be®+ sHe* - CMl+ on!

17

59.

60.

61.

R (e RS AReT F0wR
ot |

(A) P12 AW

(B) @ 3 o™

(C) weif¥afés awe
(D) TR @R T

n=3 &R @6 @ IO FFF I$IA
P, O T

(A) 18
(B) 9
) 7

(D) 14

2ERER SRS W o W PR
P

(A) (S (. PH
(B) WR. «. fifem
(C) AMRCHFTE
(D) BIToEE

g wifisca e fEfiRe @m
Rfeafo s=ifFs 2

(8) 6C'°+ 1p" = 7N+ on!
(B) 4Be®+ oHe* - «C!2+ 4n!
(€) B!+ D25 (Cll4 onl

(D) 4Be®+ ;He* - (Cll+ gn!

[ P.T.O.




58. As we move away from nucleus, the

59.

60.

61.

/6

energy of the orbit

(A) gradually decreases
(B) gradually increases
(C) remains unchanged

(D) None of the above

The total number
associated with n =3 is

of orbitals

(A) 18
(B) 9
©) 7

(D) 14

The absolute value of the charge on
electron was determined by

(A) J. J. Thomson
(B) R. A. Millikan
(C) Rutherford
(D) Chadwick

Which of the following reactions led
to the discovery of neutrons?

(&) 6C!%+ 1p! - 7N+ gn!

(B) 4Be9+ 2.‘[-1.34 — 5C12+ onl
(€ 5B+ D2 5 cll4 gnt

(D) 4Be8+ 2He4 - 6011"‘ onl

17

58. P (F A WS U WA

60.

61.

*fEwq

(A) I AW

(B) & 3 ~m

(C) weifFaf¥e ans
(D) TR TR T

n=3 &I @6 @ IH FFF I
P, O 2

(A) 18

(B) 9
) 7

(D) 14

ERER TofifEs W e W AR
A

(A) C=. (8. 4P
(B) w3. 9. R
(C) AMRCIFTS

(D) DTCSXF

e wRzmr Ty fafRe @
R FeaifFs 2

(A) 6C'%+ 1p! = N4+ gn!
(B) 4Be®+ oHe* - (Cl12+ on'
(C) sB'!'+ D% (Cll4 gnl

(D) 4BCB+ 2HC4 =3 GC“+ Oﬂl

[ P.T.O.



62.

63.

64.

65.

/6

The elements with atomic numbers
9, 17, 35, 53,85 are all

(A) halogens
(B) noble gases
(C) heavy metals

(D) light metals

Which of the following elemental
pairs has both members from the
same group of periodic table?

(A) Ca-Ba

(B) Ca-Cu

(C) Ca-K

(D) Ca-Na

In the isoelectronic species, the ionic

radii (A) of N3, 02 and F~ are
respectively given by

(A) 1:71, 1-40, 1:36

(B) 1-71, 1:36, 1-40

(C) 1-36, 140, 1-71

(D) 1:36, 171, 140

The electron affinity values for the
following elements shown below.
Which one is correct trend?

(A) F<Cl>Br>I

(B) F<Cl<Br<I

(C) F>Cl>Br>I

(D) F<Cl>Br<I

18

62.

63.

64.

65.

9, 17, 35, 53, 85 ARWIRT FAFRAAE
GG ET

(A) ZCETCE
B) FfEFw =
(C) =R 4Ty
(D) 2T 413
afRe @R (@ b RE-TRER
GFE A WS ?

(A) Ca-Ba

(B) Ca-Cu

(C) Ca-K

(D) Ca-Na

M FEIARHE PR N2, 072 @

F™ -3 WEam Ipmeds s (A) s
T A

(A) 171, 140, 136
(B) 171, 136, 1-40
(C) 136, 140, 171

(D) 1-36, 1-71, 1-40

o TN (@D 2

(A) F<Cl>Br>I
(B) F<Cl<Br«<l
(C) F>Cl1>Br>1

(D) F <Cl>Br<I




. Which of the following sequences
correctly represents the decreasing
acidic nature of oxides?

(A) LioO>BeO>CO, >
N203 )BQOS

(B) CO5 >NyO3 >By03 >
Ligo > BeO

(C) NyO3 >CO, >B,03 >
BeO > Li,O

(D) CO, >BeO > Liy0 >
B203 > N203

Which element has the highest
electronegativity?

(A) C
(B) O
(C) Mg
(D) s

In the modern periodic table,
elements are arranged

(A) alphabetically
(B) with increasing volume
(C) with increasing mass

(D) with increasing order of atomic
number

. Which of the following compounds

does not follow the octet rule for
electron distribution?

(A) HxO
(B) PH3
(C) PCl;5
(D) PCls

66. TIRT (AT W R e iy
@ T 2

(A) Li0>BeO>CO, >
N203 > B203

(B) COQ > N203 >BQO3 >
LioO > BeO

(C) N203 > C02 >B203 >
BeO > Li,0

(D) CO, >BeO > Liy0 >
B203 > N203

67. (I (DA SRELAMAFSR T+ ST 2
(A) C
(B) O
(€) Mg

(D) S

68. WY REN-RAICS (NPT Ao
TR

(A) frERFerRa

(B) S IR FHPIC

(C) =% IR TP

(D) *mRaRe TS MR IR TP
69. e @M @b cvm wBs frm

Ve e %o =i 2

(A) HO

(B) PH3

(C) PCl;

(D) PCls

L



70.

71.

72.

73.

/6

Which of the following elemental
pairs will form the most stable ionic
bond?

(A) Na and Cl

(B) Mg and F

(C) Li and F

(D) Na and F

In the electronic structure of H,SOy4,
the total number of unshared
electrons is

(A) 20

(B) 16

(C) 8

(D) 12

9-8 g of HSO4 is present in 2 L of
a solution. The molarity of the
solution is

(A) 0-05 (M)

(B) 0-01 (M)

(C) 003 (M)

(D) 0:02 (M)

What weight of NaOH is present in
40 ml 10% (w/v) NaOH solution?

(A) 04 g
(B) 4 g
(C) 40 g

(D) 10 g

20

70. TN @ @& (Wb REGE XS

71.

72.

73.

AR I AR ST 2
(A) Na € Cl
(B) Mg ¢ F
C) LieF

(D) Nag@ F

H,S0,4 S Z#@an e
Feoiga e =i O R ==

() 20
(B) 16
) 8

(D) 12

2L HyS04-99 WXI 9:8g H,S0,4
TIPS AR G R e 2

(A) 0-05 (M)
(B) 001 (M)
(C) 003 (M)

(D) 0-02 (M)

40 ml 10% (w/v) NaOH %3¢ I3
NaOH-«d #3191 $9 2

(A) 04 g
(B) 4 g
(C) 40 g

(D) 10 g




74.

75.

76.

77.

/6

Which of the following is not a
property of colloidal solution?

(A) Heterogeneity
(B) Settles under gravity
(C) Tyndall effect

(D) Brownian movement

The sum of protons, electrons and
neutrons in the heaviest isotope of
hydrogen is

(A) 3

B) 5

€ 4

(D) 6

Which of the following is the poorest
reducing agent?

(A) Atomic hydrogen
(B) Nascent hydrogen

(C) Dihydrogen

(D) All have equal reducing strength

Total hardness of water can be
removed by adding

(A) sodium chloride
(B) sodium bicarbonate
(C) washing soda

(D) soda lime

21

74.

75.

76.

77.

Ter W FoEOH TR Wl MY
oSy 7 ?

(A) SPETEel

(B) o3 aR1 wusfreg =0
(C) oem erem

(D) TR +ifS

YA FACHE S FTFICFA (215,
g ¢ FAEA iU e =

A) 3
(B) 5
€ 4

(D) 6

Acvq @G FCHCH e R @3 2
(A) ~MRRE FRegE

(B) REM ZRCGIEA

(C) eiRErrgs=

(D) b3 WM Reme of

@ ool w1 weE ST (el @O
T G 2=

(A) cfeam @RiEe
(B) G IRPRCH
(C) FIoTS O Gl
(D) Gl #12y

[ P.T.O.



78.

80.

81.

/6

Water gas ig a mixture of
(A) CO+Ny

(B) CO,+Hj

(C) CO+Hy

(D) CO,+N,

To kill disease-producing bacteria
present in water, we can add

(4) Clp
(B) KMnO,4
(€) O3

(D) All of the above

Which of the following is chemically
inactive allotropic form of carbon?

(A) Coal

(B) Diamond

(C) Animal charcoal
(D) Charcoal

What is the C—C bond length (in
angstrom) in diamond?

(A) 52
(B) 2:0
(C) 1-54

(D) 3:35

22

78. SUHR MR TmRsRH 25

79.

80.

81.

(A) CO+Njy
(B) C02 +H2
(C) CO+H,

(D) COz2+Njy

wCE IETH @191 GRFA IR [EE
TR T WA IR IR

(A) Clp
(B) KMnO,
(C) O3

(D) Torcz S

IPRFAFera R FRER FosHs 24
(A) 3%

(B) T

(C) e e

(D) SR

FaFA oS
(SUHET GF) =

C—C I TN

(A) 52
(B) 20
(C) 154

(D) 335




83.

84.

85.

CO is absorbed by
(A) CCly
(B) pyrogallol

(C) ammoniacal solution of cuprous
chloride

(D) CHCl,

In the equation
CIO™ +H* +Cu — Cl™ + Hy,0+ Cu*?

which species is reducing agent?
(A) ci0”

(B) H*

(C) Both H* and Cu

(D) Cu only

Which one is the correct order of
reducing power of metals?

(A) Zn< Al <Mg<Na
(B) Al<Mg<Zn<Na
(C) Na<Mg<Al<Zn

(D) Mg <Na < Zn < Al

During electrorefining of Cu, which
one is used as anode?

(A) Pure thin sheet of Cu
(B) Impure Cu block

(C) Graphite rod

(D) Platinum wire

82.

83.

84.

85.

@ =m1efb /[ CO-97 el W5 Gif =4
() CCl,

(B) A=

(C) et @FRiRTe SRR &34

(D) CHCl;

ClO™+H" +Cu — Cl”+H,0+Cu*?
e Rers v 2@

(A) clo~
(B) H
(C) H' ¥2 Cu Te@z

(D) @<= Cu

(A) Zn < Al <Mg < Na
(B) Al<Mg < Zn < Na
(C) Na<Mg<Al<Zn

(D) Mg <Na < Zn < Al

Cu 4197 ofde ReNewica s [
IRTS T O T

A) % Cu-93 &9 e
(B) W% Cu-9? 7%

(C) aTeib 7o

(D) 2= o=

\-—-ﬂ——»b X



87.

89.

The number of tertiary C-atoms in
2,2,4,4-tetramethyl pentane is

(A) 1
(B) 2
(C) 3

(D) 4

The ratio of o and ©n bonds in
naphthalene is

(A) 11:5
(B) 5:11
(C) 8:5

(D) 19:5

The number of possible alkynes with
molecular formula CsHg is

(A) 3
(B) 4
) 5

(D) 6

Teflon is prepared by using
(A) acetylene

(B) ethylene glycol

(C) tetrafluoro ethylene

(D) vinyl chloride

86.

87.

89.

2,2,4,4-CO0fAes cocha (sl 69
SRR C-omwIga W ==

A) 1
(B) 2
©) 3

(D) 4

TeREE @RS o € n @ RIM
P 2o

(A) 11:5
(B) 5:11

(C) 8:5

(D) 19:5

CsHg wiRe  visces W- o
AP 2P A TR/ 2

@) 3

(B) 4

) 5

(D) 6

OF @ @I (CF AFS FA W O
ET

(A) =P
(B) & iz

(C) COEwFA 2R
(D) feaizs @rize




920.

91.

92.

1% HgSO0,

20% HyS04, HyO
80 °C

H—C=C—H > A

Ais

(A) CH3CHO

(B) CH3—CH,—OH
(C) CH,=CH,

(D) CHz—CHj,

pHofa 1073 (M) NacCl solution (aq) at
25°C is

A) 7
B) 11
©) 3

(D) 10

Which one is acid-base indicator?
(A) Neutral red

(B) Diphenyl amine

(C) Phenol red

(D) Diphenyl benzidine

50 g of a saturated aqueous solution
of KNO3 at 25 °C contains 21 g of
salt. The solubility of KNO5 at 25 °C
is

(A) 724

(B) 742

(C) 624

(D) 64-2

90.

91.

92.

93.

1% HgSO0,

H—C=C—H
20% HyS04, Hy0
80 °C
A @efb =7
(A) CH3CHO

(B) CH3—CH,—OH
(C} CH2=CH2
(D) CH3—CH3

25 °C THem 1073 (M)NaCl-97 &A™
HAR pH-97 T¥ 23

&) 7
(B) 11
©) 3

(D) 10

AT A TF-IE AT ?
(A) e e

(B) SR wifi

(©) & T

(D) ©RfFRE @i

25 °C SIPNIEE 50 g S&d KNO 5-&
WE AR WA 21g AT WIE
25 °C TINIAR KNO 3-4R TRTS| 23

(A) 72-4
(B) 742
(C) 62-4

(D) 64-2




94.

95.

96.

The ratio of energy of a photon of
wavelength 3000 A to that of a
photon of wavelength 9000 A is

(A)

(B) 3

€) 2

(D)

Which one of the following salts does
not exist?

(A) NazPO,
(B) NazPO3
(C) Na QHPO 4

(D) NapHPO4

The amount of oxygen necessary to
react with 27 g of Al completely is

(A) 8g
(B) 16¢g
(C) 24 ¢

(D) 32 ¢

97. The polarity of the covalent bond

among the following is maximum in
(A) F—F
(B) O—F
(C) N—F

(D) C—F

94. 3000 A SHHICLA (@A (@O *fE

95.

96.

97.

G2 9000 A SIHCLRA (Al CFIOCA
&7 ST 2=

(A)

(B) 3

€ 2

(D)

Ao TRefem T @ e = 2
(A) NazPO,

(B) NazPOj

(C) Na,HPO,

(D) Na,HPO4

27 g Al-? % Teopfaee R sace
ST ST AR 25

(4) 8¢g
(B) 16g
(C) 24¢

(D) 32 ¢

Aeva SwaA® IR T SReE @
#3029

(A) F—F
(B) O—F

(C) N—F

(D) C—F




98. The IUPAC name of the compound
having the formula

HC=C—CH=CH,
is
(A) but-1-en-3-yne
(B) but-1-yn-3-ene
(C) but-1-en-1-yne

(D) but-1-yn-1l-ene

99. Which of the following graphs
represents the variation of solubility
of sodium sulphate crystal with

temperature?

—_—

Solubility (gm)

Temperature (°C)
Aa) X

(B) Z
€)Y

(D) None of the above

CH,—COONa Aqueous solution L

100. :
H,—COONa  Electrolyzed
P (Hydrocarbon)
Pis
(A) ethane
(B) propane

(C) methane

(D) ethylene

27

98. HC=C—CH=CH, Fe @sifba
IUPAC “%fec® i 24

(A) but-1-en-3-yne
(B) but-1-yn-3-ene
(C) but-l-en-1-yne

(D) but-1-yn-1-ene

99. A FM @Ma’ wrEER “RIsrm
s Ao 3 2

FR® (gm)

o (°C)
A) X
(B) z
© Y

(D) Toca @FWR T

CH,—COON
100. %
CH,—COONa

P

TR T

ey ——— 0 L

(A) T
(B) camem
(C) feam
(D) &

[ P.T.O.




Directions

GROUP—C / SI%—C
MATHEMATICS / 9

Teg ws |

Answer the following

questions by selecting the correct option.

101.

102.

103.

By selling a commodity, if the profit
is 12%%, then the ratio of cost price
and selling price is

(A) 9:8

(B) 8:9

(C) 5:4

(D) 4:5

If the rate of simple interest is 475 %

per annum, then the interest of ¥ 90
in 1 day is

(A) ¥o1
B) 1
(€) ¥001

(D) None of the above

If 30% of A=40% of B=50% of C,
then A:B:C is

(A) 3:4:5
(B) 20:15:12
(C) 5:4:3

(D) None of the above

101.

T @ T RE w0 121% a1 =,
O TP 43R RETEAR SArS T3

(A) 9:8
(B) 8:9
(C) 5:4

(D) 4:5

102. e 4:L% 2@ @ P 90 RN

103.

1 e 7 =3
(A) 01

B) ¥1

(C) ¥ 001

(D) TotAq (FHHE T

M AGT 30% = BEUF 40% = C9d
50% W, O3 A:B:C 21

(A) 3:4:5
(B) 20:15:12

(C) 5:4:3

(D) ToraR FWE T




104. The price of a commodity

105.

106. The ratio of age of father and son is

/6

is
increased by 20%. To get the
previous price, the percentage to be
reduced on present price is

(A) 20%

(B) 16%%

(C) 25%

(D) 10%

The cost price of 30 pens is equal to
the selling price of 20 pens. The rate
of profit is

(A) 50%

(B) 33%%

(C) 20%
(D) 25%
(a+b):(@a—b). The age of father is
(@® +2ab+ b?). The age of the son is

[a and b are positive integers and
a>Db]

(A) a+b
(B) a?+b?

() a®-b?

(D) None of the above

29

104.

105.

106.

@1 fefeR N 20% 3% ¢ | o
R core o TG FTIE 1o I
IS A

(A) 20%

(B) 16%%

(C) 25%

(D) 10%

30 o wEpn 200 FECW
RETEm AW & Arss 9 T

(A) 50%
(B) 331%
3

(C) 20%

(D) 25%

P e T wWOW WP
(a+b):[a——b).ﬁﬁﬁm(a2+2ab+b2)

XA L@ T TR [a GR b T R
JFRYN @R a> b]

(A) a+b
(B) a®+b?2
(C) a?-b?

(D) o @R T

[ P.T.0.




107.

108.

109.

110.

36%% of a number is 15, then the
number is

(A) 420

(B) 200

(C) 340

(D) 240

In a savings passbook, ¥70 is
written in balance column in a
particular month. If the amount of
next balance is T 400, then the
amount in the deposit column of
this line will be

(A) €300

(B) ¥470

(C) ¥ 330

(D) None of the above

The factors of (x2 -4x-21]) are

(A) (x-=7) and (x-3)

(B) (x+7) and (x-3)

(C) (x—=7) and (x+3)

(D) None of the above

In a given fraction, if 2 is subtracted

from the numerator and 1 is added
to the denominator, it becomes -15 If

5 is subtracted from the numerator
and 3 is subtracted from the
denominator, it becomes %. The

fraction is
E
23
E
26
E
24

(A)

(B)

(©)

(D) None of the above

107.

108.

109.

110.

mws—};%@ 15. 321fo 23

(A) 420
(B) 200
(C) 340
(D) 240
@Il APIRR-9F @I TR THe WE
70 R @R IS Tgren oW

400 O/ Z07 @2 “iefETe TR BE @
I

(A) €300
(B) €470
(C) ¥ 330
(D) Toear FFbE T

(x? - 4x - 21)-97 Teomaf =
(A) (x-7) 9® (x-3)
(B) (x+7) 9K (x-3)
(C) (x—=7) 9N (x+3)
(D) ToEa (PR W

@ I oME SR T (WF 2
R 922z 5 1 @191 I o
1= R R (e 5 R R =|

e 3 Rams Fae sl L =1 e
i 203

10
A el
(A) 23
15
(B) 26
13
24

(D) TocRR (PR T

(C)




111.

112,

113.

114,

For what value of k does the pair
of equations 5Sx+2y=2k and
2(k+1l)x+ky =(Bk+4) have an
infinite number of solutions?

A) k=5

B) k=4

(C) k=

wWiN

(D) None of the above

The ratio of the sum and product of
the roots of the equation

7x%-12x+18=0 is
(A) 7:12

(B) 7:18

(€) 2:3

(D) 13:12

Three consecutive positive integers
are such that the sum of the square

of the first and the product of the

other two is 46. The integers are
respectively

(A) 3, 4,5
(B) 5,6, 7
(C) 4, 5, 6
(D) None of the above

Iflogs 3 = a, then the value of logg 27
is

(A) a

(B)

N W

(©) 0

(D) None of the above

8 5 B B

112.

113.

k-3 (W WA & 5x+2y =2k 9%
2k +)x+ky=@Bk+4) NI
T RYF A AR ?

(A) k=5

B) k=4

2
© k=3

(D) Toga @R W
7x2-12x+18=0 R AewHa
T R BT TS T

(&) 7:12

(B) 7:18

(C) 2:3

(D) 13:12

o "R e WHe WY 9w @

Yemin q9f R WOR oA BCER S
46. > feafb e

(A) 3, 4,5
(B) 5, 6, 7
(C) 4, 5, 6
(D) TocaR (IR

114. 3 log,3=a W @ logg27 -9 I

e
(A) a

N W

(B)

() 0

(D) TR @R T



115.

116.

(A) If A, B, C be any three

117.

/6

If A={123, 4,5} and B ={24,6, 8},
then AuB will be

(A) {123, 4,5
(B) {2 4,68}
(©) {123 4,5,6,8)

(D) {2 4}

Which one of the following is not
true?

finite sets, then
AUBNC)=(AuB)n(AuUC)

(B) If A and B be two finite sets and
Ac B, then AnB=B

(C) If AL B, C be any three
finite sets, then
A-(BuC)=(A-B)n(A-C)

(D) If a finite set has n elements,
then its power set has 2"
elements

The least value of x which satisfies
the inequation 4(x-2)<5(x-4) is

(A) 10
(B) 12

©) 15

(D) None of the above

115.

116.

117.

Tt A={123, 4,5} 9 B={2 4,6,8}
¥, & AUB TR

(A) {L234,5}
(B) {2 4,68}
€) {1,234568}

(D) {2 4}

fafaReslr Tt @ e 2

(A) T A, B, C fofs ffi® &b =, ==
AU(BNC)=(AuB)n(AuC)

B) I A ¢ B ¥y FfME o6 = @
ACB®, 3 AnB=B

(©) I A, B, C foaf FifE o6 =, =3
A-(BuC)=(A-B)n(A-C)

(D) 3 =6 FfME B n WLF W0
P, O ©F 918 (power) T 2"
TP FAWA] YA

x99 @ W T 4(x-2)<5(x-4)
RIS e 3@ o =

(A) 10
(B) 12
(©) 15

(D) ToiEa @b W




119.

120.

. If the areas of two similar triangles

are in the ratio 25 :81, then the ratio
of their corresponding sides is

(A) 25:81
(B) 81:25
(C) 5:9

(D) None of the above

If an angle of a parallelogram is
twice of its adjacent angle, then the
smallest angle of the parallelogram
is

(A) 120°
(B) 60°
(C) 90°

(D) None of the above

An equilateral triangle of side 9 cm
is inscribed in a circle. The radius of
the circle is

(A) 3V3 cm
(B) 3v2 em

(C) 3cm

(D) None of the above

118.

119.

120.

M T Rerem cFaweR TS

25:81 W, @ fagw wfor @A
IRSFR TS I

(A) 25:81
(B) 81:25
(C) 5:9

(D) Tofcaa @R T

ANBRE @ G @ ©R e
@R fage ww TNEREhT  FEey
IR T T

(A) 120°
(B) 60°
(C) 90°

(D) T @FFLE 7w

9cm IR <= fIgw = e
e 20w Jeiba IPTY =3

(A) 3V3 cm
(B) 3v2 cm
(©) 3cm

(D) TR @R T

[ P.T.O.




121.

122.

123.

/6

Which of the following statements is

not true?

(A) A line which intersects a circle
in two points is called a secant
of the circle

(B) A line intersecting a circle at one

- point only is called a tangent to
the circle

(C) The point at which a line
touches the circle is called the
point of contact

(D) A tangent to the circle can be
drawn from a point inside the
circle

The hypotenuse of a right-angled

triangle is 25 cm. The other two

sides are such that one is Scm
longer than the other. The lengths of
these sides are

(A) 10cm, 15 cm

(B) 15 cm, 20 cm

(C) 12cm, 17 cm

(D) None of the above

/ﬂl“\
B i c

In the given figure, if ZBAC =90° and

AD1BC, then which one of the

following is true?

(A) AB-AC =BC?

(B) BC-CD = AC?

(C) BD-CD = AD?

(D) None of the above

34

121.

122.

123.

Nesx @ TS 7T 7 2

(A) @3 FRECEAN T GIH JEF o
s caw 03 O S W1 3 W

(B) @ TRERAA (A J&IF  GFOIG
e @7 303 o |WE =T @
=

(C) 3> SR @I Jae @ Reges
=opf FCI O = Ry T =W

(D) e /WE @ Ry @3 R
G0 =P % FA IW

g e fagrem  wfopcem  trf
25 cm. TR AL qH @A @ 43I AT
SR (WF 5 cm I WR AR 4HA
ol =3

(A) 10cm, 15 cm
(B) 15 cm, 20 cm
(C) 12cm, 17 cm

(D) ®oitza @ivE T

A

B D (o)

oave forg ZBAC =90° @32 AD1BC
3@ ffResfr ww @Eb 579 2

(A) AB-AC =BC?
(B) BC-CD = AC?
(C) BD-CD = AD?

(D) Totam (@ibR W




124: Two parallelograms stand on equal

125.

126.

127.

bases and between the same
parallels. The ratio of their areas is

. (A) 1:2

(B) 2:1

(C) 1:1

(D) None of the above

In an equilateral triangle ABC, if

AD1 BC, then which one of the
following is true?

(A) 3AB2 =4AD?
(B) 4AB? =3AD?
(C) 2AB? =3AD?
(D) None of the above

If the angle between two radii of a
circle is 130° then the angle
between the two tangents at the
ends of the radii is

(A) 65°
(B) 50°
(C) 40°
(D) None of the above

The difference between the semi-
perimeter and the sides of a triangle
are 8 cm, 7ecm. and  S5cm
respectively. The area of the triangle
is

(A) 2047 cm?
(B) 10414 cm?

(C) 20V14 cm?

(D) None of the above

125.

126.

127.

ABC TR fages I AD L BC =, o3
Aea @D 79 2

(A) 3AB? =4AD?
(B) 4AB2 =3AD?
(C) 2AB2% =3AD?
(D) ©orER @R T

I G316 08 6 IPICYA WIS (1

130°. Irmes AR qice wfke 1
=i SFIe! (11 TR

(A) 65°

(B) S0°

(C) 40°

(D) TR @R T

@ g wRFM ¢ IRGeR

fAzaerFs IAFE 8 cm, 7 cm G 5 cm
% fagrem ovawa 2@

(A) 2047 cm?
(B) 10414 cm?
(C) 20v14 cm?

(D) ®omm @miv: T

[ P.T.O.




128.

129.

130.

If the circumference of a circle and
the perimeter of a square are equal,
then which one of the following is
true?

(A) Area of the circle = Area of the
square

(B) Area of the circle > Area of the
square

(C) Area of the circle < Area of the
square

(D) None of the above

A river 1'5 m deep and 30 m wide is
flowing at the rate of 3 km/h. The
volume of water that runs into the
sea per minute is

(A) 2000 m?
(B) 2250 m?

(C) 2500 m?

(D) None of the above

A metallic right circular cylinder of
radius 7 cm and height 2cm is
melted and converted into a right
circular cone of height 6 cm. The
radius of the base of the cone is
(A) 4 cm

(B) 5cm

(C) 7cm

(D) None of the above

128. I @3B T R @I @

129.

130.

fewad RN WW =W, @ e
@D 3o ?

(A) FE (FATA = ICHAA CFATA
(B) @I (FATFA > I9MCHET CFIT
(C) ICeA CFaTa < PCHC@I CFaTa

(D) Toia @R W

1'5 m %" @3 30 m «ERFR 93
% fica 3 km/h @ T qifde = 1 2fS
R @ w1 ST IW oR weA 23

(A) 2000 m?
(B) 2250 m?

(C) 2500 m?3

(D) ToAR @R W

7 cm IPTY @32 2 cm THORME @3
qeq FEJEPR  (BIE ST 6 cm
TwORME Gl TSR F O T
ZE *goa $RR TPy =3

(A) 4 cm

(B) Scm

(C) 7cm

(D) TEa (P2 W




131.

132.

133.

134.

The radius of the base of a cone is
5 cm and its height is 12 cm. Its
curved surface area is

(A) 651 cm?
(B) 607 cm?
(C) 30mcm?

(D) None of the above

The ratio between the volumes of
two spheres is 27:64. The ratio
between their surface areas is

(A) 3:4
(B) 4:3
(C) 9:16

(D) None of the above

In making 1000 revolutions, a wheel
covers 88 km. The diameter of the
wheel is

(A) 28 m
(B) 14 m
(C) 24 m

(D) None of the above

The total surface area of a cube is
864 cm?2. Its volume is

(A) 3456 cm®
(B) 432 cm?
(C) 3465 cm?*

(D) 1728 em?

131.

132.

133.

134.

@3 A PNT AP 5 em @R Tw
12 cm TCA 97 PSR (AT A

(A) 6571 cm?
(B) 60n cm?2

(C) 30=n cm?

(D) TR @FFvE T

7 oM SIS SAATS 27 164 ZCA
CoMET GBR *BTHOR CRAFCH oS ZI
(A) 3:4
(B) 4:3
(€) 9:16

(D) ToicEa @S

1000 IR GCA 3B B 88 km 9
ST I3 | SR AT T3

(A) 28 m
(B) 14 m
(C) 24 m
(D) ToiR @Mz T

G I TAASHR (HFGFe 864 cm 2.
P03 WA 33

(A) 3456 cm?
(B) 432 cm?

(C) 3465 cm?

(D) 1728 cm?®




135.

136.

137.

138.

/6

In a AABC, it is given that ZB =90°
and AB:AC =1:V¥2. The value of

( 2tan A

) will be
1+tan? A

A) 2

1

(B) 2

© 1

(D) 3

If sin(A+B)=1 and cos(A-B)= %,

where A > B, then B will be [A, B,
A+ B and A-B are acute angles]

(A) 30°
(B) 45°
(C) 90°
(D) 60°

If cosA+cos? A= 1, then

(sin? A+sin? A) will be

(A)

I

(B) 2
(C) 1

(D) None of the above

The value of

(cos3 1° sin 63"]
sin59° cos27°

will be
(A) O
(B) 1
16y 3
(D) None of the above

38

13S5.

136.

137.

138.

g AABC-93
AB:AC=1:V2

[Lmzi)-mmm
l+tan“ A

£ZB =90°
=,

R

(A) 2

(B)

©) 1

(D) 3
I si V3
sin(A+B)=1 &R cos(A—B):;

=W, @I A>B, 9@ B-qq b T3
[A, B, A+B 4R A-B (o132

TR ]
(A) 30°
(B) 45°
(C) 90°
(D) 60°

T cosA+cos?A=1
(sin® A+sin® A9 T 23

=,

(A)

(B) 2
€ 1
(D) T3 @wive

(00331“ E sin63°
sin59° cos27°

-

(A) 0
(B) 1
(€) -1
(D) Teoraa @b




139.

140.

141.

On the same side of a 300 m high
tower, the angles of depression of
two objects from the top are
45° and 60° respectively. The
distance between the two objects is
[Take V3 =173]

(A) 127 m
(B) 117 m
(C) 217 m

(D) None of the above
If tan8=§, then the value of

[asin9+ bcosB) .
asin® - bcosB

a? - b2

Wes—rF
a?+b?

a? +b?

B >——
a?-p2

a
(©€) 3

(D) None of the above

The value of

tan 7° tan 13° tan 60° tan 77° tan 83°
is

A) 1

i§
(B) 5
(C) V3

(D) 2

139.

140.

141.

300 m Tp ¥ BT pUI (VT G
fice wrfEe 72 <79 SRAfe @1 IUEw
45° qR 60° A I Yo7 WY TY TS
[¢reT ©C’ V3 = 1:73)

(A) 127 m
(B) 117 m
(C) 217 m
(D) o @R W

Tf tanf = 4 7,
[asinﬁ-{-bcose

-9q ¥4
asinﬁ-bcosﬂ] S

a?-p2

7%
A a? + b2

(B) a2+ b2
a?-b?
a
C s
(©) b

(D) Toizaa @mtE T

tan7° tan13° tan60° tan 77° tan83°-
CER ISR
(A) 1

1
[B)ﬁ

(C) V3

(D) 2

[ P.T.O.




142.

143.

144,

In a rectangle, the angle between a
diagonal and a side is 30° and the
length of this diagonal is 8 cm. The
area of the rectangle is

(A) 16V3cm?

(B) 16 cm?

20 cm?

e
© T3

(D) 32cm?

Let m be the midpoint and u be the
upper limit of a class in a
continuous frequency distribution.
The lower limit of the class is

(A) 2m-u
(B) 2m+u
(C) m-u
(D) None of the above

If X is the mean of x;, xo, ..., X, then

n
the value of Y (x; — X) is

=}
A) -1
(B) 1
(€ 0

(D) None of the above

142. @A 936 SARErHER G330 I 8 G

143.

144.

IR WIS (1Y 30° A2 @3 FAA 7
8 cm . SHSCFALI CFIFE A

(A) 16V3cm?

(B) 16cm

16 2
cm
V3

(&)

(D) 32cm?

@ Sfiften “ffam Remcm @
@3 R (class) TORT m @
T w. afafta FEs ==

(A) 2m-u

(B) 2m+u

C) m-u

(D) TR MR T

;M X1, X2, 0 Xp-GR ANE T X T,

mn
@ Y (x; - X)-98 T T
i=1

@A) -1
B) 1

(C) 0

(D) TR @R T




145.

Class

For the following frequency
distribution
| 0-5 | 5-10 |10-15|15-20]|20-25

Frequency | 10 | 15 | 12 | 20 | 9

146.

147.

the sum of the lower limits of the
median class and the modal class is

(A) 15
(B) 25
(C) 30

(D) None of the above

The median of the data arranged in
ascending order 8, 9, 12, 18, (x+2),
(x+4), 30, 31, 34, 39 is 24. The
value of x is

(A) 22
(B) 21
(©) 20
(D) None of the above

A cumulative frequency table is
given below :
Marks Number of students

Below 10 17

Below 20 22

Below 30 29

Below 40 37

Below 50 50

Below 60 60

The number of students obtaining
marks range from 40 to 50 is

(A) 13
(B) 8
(C) 10

(D) None of the above

145.

i

e Remer cw

| 0-5 | 5-10 |10-15]|15-20|20-25

aferam| 10 | 15 | 12 | 20 | o

146.

147.

TN oo RS @2 imew i
e ases =@

(A) 15
(B) 25

(C) 30

(D) ToaR FFLE W

SH@Fw Aeen 8, 9, 12, 18, (x+2),

(x+4), 30, 31, 34, 39 % WLhR
A 24 20E x-9R W 21

(A) 22
(B) 21
(C) 20
(D) ToeaR (FFLE

i @3 T fery Remm
RSy 29

. TH BRI

10 <3 s 17

20 @3 s 22

30 93 T 29

40 @3 37

50 «¢3 A5 50

60 93 b 60

40 (YCF 50 T AW WPRA 2
(a) 13

(B) 8

(C) 10

(D) Tocaa (P W

[ P.T.O.




148.

149.

Class

If the mean of the variate x is 100,
then the mean of the variate
5x-10) is

(A) 500

(B) -1000

(C) 490

(D) None of the above

Consider the following table :

| 10-14] 14-18| 18-22| 22-26| 26-30

Frequency | 5 | 11 | 16 | 25 | 19

150.

Class

The mode of the above data is
(A) 235

(B) 24

(C) 244

(D) None of the above

Consider the following table :
0-10 |10-20|20-30|30-40| 40-50

Frequency 1 4 4 8 S

Class

50-60 | 60-70 | 70-80 | 80-90 [90-100

Frequency 1 6 7 3 i

/6

The percentage frequency of the
class 3040 is

(A) 20
(B) 40
(C) 60

(D) None of the above

42

148. x 33 (QF T 100 TH (5x -1
e (T o 23

(A) 500
(B) —1000
(C) 490

(D) o @ T8

149. 7o @ & e = :
e |10-14|14-18| 18-22| 22-26 | 26-30
aforem| 5 | 11 | 16 | 25 | 19

(A) 235

(B) 24
(C) 244

(D) TRR @R T

150. s 3 &3 Creal R :

offe 0-10 | 10-20|20-30 | 3040 | 40-50
A2 1 4 4 8 5

cofd 50-60 | 60-70 | 70-80 | 80-90 |90-100
AfPTeL 1 6 7 3 1

30-40 faba ez« =3

(A) 20
(B) 40
(C) 60

(D) T @ME T
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1.

SEAL

10.

11.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

iR et s+ o1ga :

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be

changed.
oifef e Tam e 3 vt Rew crem W @1 (0T B 8F TSR fits OMR TERowa (rew 336 I I
Fo WR e e I o Fee 203 1 9w Te ke T onw wie wm e s aa

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

AW (FHSSEE OMR TEqo/@ic S5 92039 71 | OMR @A (FHEIF W51 F101 31 I9F (391 A =11 | SArF1qR1 S0
@ R SEFeica e T Sm we W e SN g 11

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set will be provided.

OMR $@3°1q) 432 213Ia8 TR M FoF0] Sao9 FA0C LA | (S FAWTE (Yo Ff @ *rf¥sre b wer) OMR Taaeig
8 2P e (TSR AR A1 1

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

*AFAS WHceH Ab-9 $W OMR TEA AR 797 932 2oad 79a Figerena frrs =3 1

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

*RIFIRICE SSHG FTE 32 FCH! WD FTE !0 (FHS WOAHI 3 (511 FI90E, 40 S TR S, (1R, (VR T,
G (ST e st e <Rl w0e /0 2t RS RSNl A

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

1] T ZACUCADA TP ea1 A (e g A1 witeRe ¢ ik 301 2091 2w ~Arwd $@ wrefit 3¢ ¢

FLO WIECTADD FTE (FATS T LTI |

No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat.

CTOR FenfFchres A Tfefrana-un Rem wqafe wwr ARt «frw w1 O) IR T ~RAET 20 1m0

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

Rrwdifene TeRCebEg oreu Sbheem Mos IR T IO T3, AUTR A9 Lo SO SPF TR *[ @ falkam
efTasEe Fe6 OMR Teae@ &1 (7eu 79T |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and dealt with
as an unfair means case.

SCHCE™ Ab-« TEAR TP A G FEIRS TA(Sercaita - <R b Tagomg o (rem T8I e =R «rew 27 one Fa0s
o3 1 | T IS <RI Riee Mo-« AR TR 7 KA O R TW OMR Tewemm w1 FE 104 0 TI GR 9
e IR T @ %I |

Use of any type of calculating device is prohibited.

(IS M FEAPCAGCHA IR Fpefacet e |

The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

(A = /I0H Y AW WA @rsy Faw e P SRl v =1 1R wer S9te I @nda e e P
g A =3

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(TS SIAX 2@ @3t OMR TEROIIR (FHS T (X1 31 WEAM 341 IR 1 |

On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.

3] (T8 2SR *fC3 *RMFIR HPME TR OMR TT71@ IS TASRTabeaa IR o1 (ede | /A % epgoafs $wd Ay
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